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<wqup npwy
. ous llll'l Uhwynph | Cughwlnip
{4 Usluwnwlipiiph whuinudp dhunjn Lwbulp wpdbpp, | wpdbpp, hwg.
e huq. gpud npud
1 2 9 4 5 6
Swlhph wnlju mpudwwnwynp phetnhg
1 swbljnyph wuntudnud pd 594.35 0.5 297.18
Unjw hwppe phptnhg gnqungh b ywpwwytinh
2 phpbnh wywintnwdnud pd 745 0.5 37.25
Unju Q 14-18ud dwytnutph b jubquwlutph )
3 wyuUninwdnud b qguuwynpoud pud ! 12.07 12.07
Swithph Jpw mnkqunpjué hknnuunwnbuwghe Citsas
4 wlnbiwlbph wywdniwnwdnd hunn - 3 1.0 3.0
Swihph wrejw dwiniutikph b vwppwynpnid- !
S ukph wywintvnwdnd b unphg nknunpowd huun 3 1.0 3.0
Swihph wnfw ohtwnph hwjupnd b
Onuihnjuntpjut hnputitiph 4pu30*30*2dd
7 |mynuitlynit unnnquyjubphg upluuh n 0.64 600.0 384.0
Junnigmu : '
8 |8huyuuyun hupp phptnny kpkuwwwnnd pu 90 5.0 450.0
9 Stimbpnu[ wiwnbkiw mEqunptnt hwdwp v 3 ' 3.0 9.0
d=50Ud dtnwnujwl junnnjuljukph
10 |Ubkunwnuljul funnnjuiljukph Eplotipn ubpynud pu 0.47 1.5 0.71
Swihph mpudwwnuwynp ghijwwuwwn phplinhg
11 [dwdynyph yuwwnpwuwnnwd b =0.55Ud pd 70 5.71 399.7
hwunnipjul /unp phptn/
Swithph wipuwnunnp. ghtijwyjuin phptinhg
12 |dbwslynyph yuwnpuuwnnd b =0.55Ud pd 526.44 25 1316.1
huwunmpjut mywdninnuddws pheby/ :
Opputh Ykpht , b=600Ud ghijuuyjuin hwppe
13 phebnhg pd 74.5 5.0 372.5
14 [EMiwpehptn ghtjuyjunn hwppe phptnhg pu 745 5.0 3725
b=600ud
; Nhywphptn b=600Ud oqunugnpély
15 wngunininnwdius hupp phpknp pd 46.65 25 116.63
16 |Swthph thuywnju wwppkph mbknunpoud i 17,88 180.0 3218.4
Cunwdkup 7042.04
Uu.2z-20% 1408.41
Cunhwnipp 8450.45
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Qunhh Uhunph Cunhwtnip
/L Uphiwnwbipubph widuinudp - Lwtmlyp wpdbpp, | wpdbpp, hwq.
Uhwnpp hus d d
q. gpw npw
1 2 3 4 5 6
Shujuwjunn hwpp phptnhg nqung ouihnju
1 [prbukp b=600Ud wyuintunwdyws hwpp pu 20 28 56.0
phptnp
Ququpikph wnknugpmd @ 120 huwn 8 10.0 80.0
Only @ 120 hunin 8 5.0 40.0
2nhnu junnnuljutiph wknunpnid @ 120 u 16.5*8=132 5.0 660.0
8hujuiyyuin hwppe phetnhg ynun
.1 o [onwthniunipjul hwdwp wyudntnwdyws pd 7.2 25 18.0
! hwppe phpknp
Swithph dbinunujui Swnwawpkph u 121.6 8.1 984.96
Swithpnud wunnthwih nkquinpnud hwitn 4 50.0 200.0
' 8 |Cunuihky wlgpkn d=14, 1=160 huwitn 170 0.5 85.0
Bninp Ubnwnulwb nuppbph dwppnud '
9 duiighg hpwhwngphg b ukplyt) jnuyuitkplyny pu 476 1.35 642.6
Uyudninwdyws thwjnuiyniph oqurimgnpsnud
10 wwthph Yunniguwh Uk fud 4.2 10.0 42.0
Swithph thwjinjw §ntunpnijghwikph
11 hpuwywotnywbnieadt fud 23.68 10.0 236.8
12 |Swbhph Uknwnujwb nuppbph nkqunpnud n 0.246 600.0 147.6
Udpnnop 1 dwuh 3192.96
UU2-20% 638.59
Udpnnop 3831.55
¥
Juuywjwnny
»Uupynnh” UL
Shopkl’ .

Uwpquyul




